MASTE
S
T

HEORY

[USE OMR SHEET

!

Choose the correct ar

1.

of the following i
Q

4,

Which of the follow

C.

‘1'V'r‘.|aﬂ"€»\i.zi:!‘-’:>H-|:‘:!‘Hnr.1< 1s used for proving

ramimeals

wer from the

» followi

None of the above

), q1},{a,b},8, q0,{q1})?
qb €l

None of the

abov

"Wﬂ_uy;. exists a
some final :

None of the above

All DEA

bounded aut

SS10N are Nnot :‘Al\.(l 1V

yma!

Uent?







19. A Context free grammar A- ais

a. Greibach normal form b. Chomsky norir
c. Bothaandb d. Neither a no!

20. The regular expression having all s .7 nd 1’s with two cons

Time : 2 hr. 30 mins.

1.

a. (0+1)
c. (O+e)(1+10)*

[ Answer question n

Explain briefly Chomsky Hierarchy with
representation. ¥
Also check whether the given gran nbiguous or not- for the
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